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) 8 Taylah Robertson participate which category of boxing in 21* Commonwealth games held
during 2018 at Australia

. (A) 55 kg weight category (B) 60 kg weight category
W 51 kg weight category (D) 50 kg weight category
2pavHGrelwmeiler 2018 b @r® peo AU 21eug sToEEUOS Cumiiguied Cgeom grum_sen
@G58l sameL Cum_iguier ahg 19feled swbg Gsmammi?
(A) 55 HCar ereni ey (B) 60 HCer cranL 9fley
(C) 51 &Cameren fley D) 50 fGarr erenL ey

% When was the “Earth day” first celebrated?

(A)  April 21, 1969 @ April 22, 1970
(C) April 21, 1971 (D) April 22, 1972
‘yell prer apgalier eriGuing) Gamarrm UL g|? ; -

(A) 1969, glye 21 \ (B) 1970, griaged 22
(C) 1971, guge 21 (D) 1972, glige 22

3. The Indian National Trust for art and cultural heritage celebrates Heritage Week in évery
year between

(A) 19tk — 25t September (B) 19t — 25t October
W 19th — 25th November (i)) 19th — 25t December
s HHD seTEsTTESe Agrambau QararrBw elswns @pdw Cslw seme HYID SQTFST]
SienioLiL| LTS @euQeumm aumBLpb smL 19y @D QLD 618)?
(A) .19 - 25 Qe ibur B) 19 -25 &CLmuir
© 19-25 pQJ.LleI'T (D) 19— 25 gabur

4. During the year 2018, in Tamilnadu the hike in bus fare was reduced partially and
implemented on ‘

\M 29th January 2018 (B) 20t January 2018
(C) 27t January 2018 (D) 24t January 2018
slflpssde 2018 amh HmsH @WwESILLL U6 &L_L_ewrid » BamHn  GonssIUC®H
SILDEOMESSILILL [BITET -
(A) geareufl 29,2018 (B) gareufl 20,2018
(C) gameufl27,2018 ; (D) gareufl 24,2018
p 3 CEG/18
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5. In which year Basket ball was invented?

M 1891 ‘ (B) 1894

1899 (D) 1991
TG e (H) saemLL1Lpbgl eflenemum_ (B Comemdliig)?
(A) 1891 (B) 1894
(C) 1899 : ! (D) 1991
6. How many days, Prime Minister Narendra Modi sets a deadline for government departments

to resolve public grievances?
(A) 30days (B) 45 days

% 60 days ; . (D) 75 days

Qurrg) wasel 10 HHE QupLULEHD G@pamar Siés 78 glepaEné@ Grswor FCrHT Gumg 55
&M&6s[H eTdgamen B _sar?

(A) 30 priser (B) 45 pmisar
(C) 60 pr ser . (D) 75 pmiser

T Which satellite was carried by GSLV-F08 launched by ISRO?

GSAT - 6A ‘ (B) GSAT-6B

(C) GSAT-T7A (D) GSAT-6C

ISRO -aflanmed gleraverarefl - ero'ss 08 gra@ai apad elaranlier gautinl L GswpamasCaner eTg)?

A) Qen’ — 6 (B) gem’—64

C) gham’ —Tg D) gHer’ —68

8. At what rate of speed, our brain sends the messages?

(A) 250 kmph (B) 275 kmph
(© 350 kmph " 375 kmph

[BLDG) eLpEnGrT 5&@&)6\) ahs Geus ellflzsdler SigiLdpg?

(A) 250 kmph (B) 275 kmph

(C) 350 kmph ' (D) 375 kmph

CEG/18 4 ' ' B



10.

1.

12.

Which planet is not a inner planet of the following?

(A) Mercury (B) Venus
(C) Mars w Jupiter
Qemeumeuaauhmier erhg Hrsib 26T Hrsid e ?

A) user - B)  Qaueraf
(C) Qaeusumis ' D) eSwmper

Which proportion the Pakistan and India divide the total water of the Indus system?

(A) 50:50 B) 60:40 : : -
(©) 70:30 W 80:20

@pHwur whmb urdeavgrear BrH&EssEE oL Cuwrer fbg B B LS. G elfgrésmyb eeucuerey?

(A) 50:50 (B) 60:40

(C) 170:30 (D) 80:20

Prothrombin is found in blood and is related with

(A) Initiation of heart beat Blood clotting
(C) Blood agglutination . '(D) Blood pressure
QrsssHd o_drer LCTTATmb e ere@uL_dn QML wig?

A) @sw giglienu §eus@se (B) @usswb 2 eampsed
© @résd LBz D) @rss Swss0

In mammals, prolactin stimulates the production of
(A) Progesteron

(B) Mucus in the digestive tract

(C) Digestive enzymes in the small intestine

W Mik

urrgzm’.q.esaﬁd)fq@mra)rréq.s&r gramHougme 2 HuSSuraug)
A)  yCrrQgev Grmen

B) eaweyl urenguie Cameny

(C) SmyEe Qefwrer Aprd
D) wume
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13.  Who among the following have held the office of the Vice-President of India?
‘Mohammed Hidayatullah

Fakruddin Ali Ahamed

Neelam Sanjiva Reddy

Shankar Dayal Sharma
Select the correct answer using the code given below :

(A) 1,2,3and4

1 and 4 only

(C) 2and3only
(D) 3and4only

B 00 N

Spssam_aiisaild QbHu giwans GigLrss smoaisas Lsed aiflgseautasr wmi?
1. qpswg adlswgcerr

2. JusmEar el &g

3. Bew sgpfeu Qg

4 EBIGT SWITET FTLOT

Sipssam @HluiGsaiad Gmbe sfurear ufoe Caib0s@HEsa b,

A 1,2, 3whmw4

B) 1 wpmd 4 w_Hid

(€)' 2 wpmib 3wl @id

D) 3 wpmib 4wl GHid

14.  District Rural Development Agency was formed in the year

(A) 1978
d 1980
(C) 1982
(D) 1984
LDTGUL_L_ 26T & QUETTTES] (WPSELD 2 (HEUMESILL L per(H
(A) 1978
(B) 1980
(C) 1982
(D) 1984

CEG1S8 = 6



15.

16.

Assertion (A) : The device of Adjournment motion is not used by the Rajya Sabha

Reason (R): An Adjournment motion does not result in removing the Government from
office

(A)  Both (A) and (R) are true and (R) is the correct explanation of (A)

W Both (A) and (R) are true but (R) is not the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

apm (A):  @sfaaiyg Siorerd wrblomisaeameawined LweauBssiubeug HaLwng
srgenid (R) : ggdeaeuliyg Siomand srsmissagls ugeiluiod Q) mbal isnnieuddame
A) (A opmb (R) @rar@id M Cogyd (R) ererug) (A)ellen sflwner eflardasiwnm@n

B) (A wpmb (R) @rar@ib &fl e (R) eremugy (A)ellen sflwmen aflarésid o
©) (A wl @b el yamo (R) seupr@bd

D) (A saum emé (R) sflwngo

Consider the following statements with reference to constituent assembly. Which of the
statement is correct?

i Mahatma Gandhi is not a member of Constituent Assembly
I Dr. Rajendra Prasad was elected as President on Dec. 11, 1946
III.  Under the Cabinet Mission’s provisions, Constituent Assembly was established

IV.  Constituent Assembly executed only the National Flag not the National Anthem

By Lodly & L 1l and III only

(C) IIandIV only (D) L 11, III and IV only

Qipdu  rfluemwiy  Hifenw  soudar arsflugas saueallsseyn. ECp GO Harer
auraflunsafle ergl/ereneu Fflwimenaneu?

i wargor sTHE Qb Sirdlweamoliy flifemrw semuubien 2 plibernt e

II. orflue flierw soullar smeeurrs LrsLiT @Crropdly Ggerd geour 11, 1946
CapOsHEsuC LT

I, eirflwue flireww genu, CaQam’ Blagen STOTEISSTED 2 (HeuTSSILL L G

IV. Gsflu Qargeow wl G rflued Himrw sou goms Qsrar_g. Csdlu Sssms Tpms

Qarererafldvane
(A) Twi@Ew B) I, II whmwb IIT w @b
(©) II wpmbd IV o @Hibd (D) I, II, III whmd IV @G
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Match List I with List IT and choose the correct answer from the codes given below :

List I List II

(a) NITI Aayog j £ 15.03.1950
(b) National Development Council 2. 22.11.1951
(¢) Finance Commission 3. 01.01.2015
(d) Planning Commission 4. 06.08.1952

(a) (b) (c) (d)

@A 2 1 4 3
B) 4 2 3 1
" 3 4 2 3
D) 1 3 4 2

ugwe I ulgwed II 2iear Qurpsd, eflurer ofleew &ECp CQar@ésliul (Herer
&DSGsefemhe Coib050.

uiguied I U iguied I

(a) B Curs oh oL ESI005.1950
(b) Capflweuenidls gy 2. 22.11.1951
(o MHossuw 3. 01.01.2015
4. 06.08.1952

d) i sEw

@ ® (© @

A 2 1 4 3
B) 4 A 1
© 3 4 2 1
D) 1 3 4 2

Who was the Chairman of First Planning Commission in India?

(A) Dr. Manmohan Singh W Jawaharlal Nehru
(C) V.P. Singh (D) Morarji Desai
@ndureiler g S s @Gpeiler semaaeui wimi?
(A)  Dr. wenGuomsen A B) mauanierd Crm
(C) V.P. &iru (D) Quwnprirgd Ggemi
9 CEG/18
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21.  Arrange the following in chronological order :

% Bombay Presidency Association
I1. London Indian Society

III.  Mahajan Sabha of Madras

IV.  East India Association

@ IV,ILILI ®) LI L IV
7 ULLILIV D) ILIIL IV, I

&Gy Gar@ssuulLaupap srasdysons aflasudsseb :

L. umbCu LosTeRT SjepLoLiLy
II. e s @b Qsrenst g
III.  Quiyrev wamgmen shsD

IV. dysflpdu oCarflCuisen

A IV, IOLILI (B) L ILIIIL IV
(C) IO LILIV (D) ILIILIV,I

22.  Who were called as Fathers of Congress?

L. Pethick Lawrence

IL. A.O. Hume

ITI.  David Yule

IV.  William Wedderburn

W 1l and IV B) III and IV
© TIandIl D) I and III

sudlrélen sHang erenml SaP&SLIL[HLIGUTSET WTeui?
I.  Qusds enraren

II.  A.O. aflyo

III.  GLefl we

IV. e&fleveSlwib Qeul L e

A) I wpgw IV (B) III wpmw IV
€) TIuwpgwII (D) II wpmw I

CEG/18 10



23.  Chemical name of Teflon is
(A)  Poly propylene
(B)  Poly Acetylene

W Poly tetra fluro ethylene

(D)  Poly Vinyl alcohol
Qutiemen eremuigem Geudll Quuwiir?
(A)  umed yCymiuGeden
B)  umel & qeSem
(©)  ured Qu_gryEnCrm ergleden
D) umellaflenard osanmed

24.  The compounds which have back bonding are
(A) Metal nitrates
(B) Metal carbonates
W Metal carbonyls
(D) Metal oxides
GenGerrés, Wlenemriianit o e _ré@id Camoniser
(A) 2 Ceors enplCri(Hiaser
(B) 2 Geonrs sriruGear_[Hser
(C) o CGons sriuemeaTseT

D) =2 Canrs ysamadaer

25.  The ozone layer forms naturally by

(A) interaction of CFC with oxygen

M interaction of UV radiation with oxygen
(C) interaction of IR radiation with oxygen
(D) interaction of oxygen and water vapour
Quneauie @Camen Lt QLD 2 (HeuTss STrewTLD
(A) CFC =s8imaean @enLui{h 2iem_augma
B) UV sfirser o &.meaer @ uSH L aigmed
(C) IR sdiser ysflman e Qe ui{H DiemLcugmed
D)  =s8ger Bymeluy e @enL ui[H SienL_cugmed

B 11 : CEG/18
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26.  Match the following :

(a) p carotene 1 14 Cereals
(b) Copper 2. Pappaya
(¢) Iron 3. Mushroom
(d) Selenium, zinc 4. Pulses
(a) (b) (©) (d)
A 1 3 4 2
- 2 3 4 1
© 3 4 IR |
D) 4 3 2 1
Spaar_cupenn QUTHESE.
(@) p sCymigen 1. greflwhiser
(b) Qaby 2. udurefl
() @my 3. 5nmndrs&1
(d) Qsdlafluw, ysspran 4. LEwBUY
(a) (b) () (d)
A 1 3 4 2
B) 2 3 4 1
© 3 4 2 1
D) 4 3 2 1

27.  During centrifugation, which one of the following will settle down at last

A)

Nuclei

M Ribosomes
(©)

Mitochondria

(D)  Chloroplast
evweladasd weapulear Curg Spaam _aunhle 6Tg semL_Huns Liguide g g
A) Hwseii
B) MACurGsmb
(C) eowl G sramrigMwim >
D) ECamCGrmQermav_
CEG/18 12



28.

29.

30.

31.

Which Pallava King was the patron and follower of Tirumangai Alwar?

(A) Simha Vishnu (B) Parameswara

(C) Narasimha % Nandivarman II
aThG LIeau Weneni HHLomiams ety 25 MEE euamr lﬂdﬂuﬁ)@wmr‘r‘?
(A)  Sbw eflegany B) upCuaveurer

(©) prélibwer (D) @nesrmb pHHeumoen

When was Pandit Ravisankar honoured with posthumous Lifetime Achievement Gramniy

award?

(a) 2011 (B) 2012

" 2013 (D) 2014

ahs par® uamgl gellsmsmEd @puusGder Srmd eumpprer sTgmenurant ellma! -

QUPREISLILILL &7
A) 2011 (B) 2012
©' 2013 (D) 2014

Which Delhi Sultan Introduced Market Regulations in India?
(4) Kutb-ud-din Aibak P Ala-ud-din Khilji
(C) Muhammad-bin Tugluq (D) Ibrahim Lodi
e QLavell s@gmer, GbSureild simaTy Erdmsssms ahubsHeanmit?
A)  EsuSa SLuE ' B) @raySen g
(C)  pswg Yen gi&ens (D) @L‘luu&ﬁb Ceormig.
Who lived in the court of Muhammad-bin-Tugluq?
(A)  Alberuni (B) Ferishta

M Ibn Batuta (D) Nuniz
pag) e gisemédlem aq@&uﬁléo Qmpseu wmi?
A)  e@ugmenf B) GQuflagLm
©) Querugngm (D) Hueflev

13
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32. If20% of A = B and 40% of B = C then find 60% (A + B)

(A) 30%of C (B)- 60% of C |
(C) T5%of C : M None of these

A-ar 20%=B wpmib B —ér 40%=C erafier (A + B) —eir 60% smesr

A) C-en30% (B) C—en60%

(C) C—anT5% } D)  ageSoma

33. A rational number is such that when we multiply it by 5/2 and add 2/3 to the product we
get —7/12. What is the number? .

A -3/2 B) 3/2
© 12 & 12

e dfswpn aarman 5/2—@ Qumss amb QuEmssHLOEILE 2/3pé smigemd — 7/12
e _&@D arafler scualflsapm erewr 6rg)?

A -3/2 B) 3/2
© 12 A D) -1/72

34. A pie diagram is with dimension
(A) one (B) three

W two (D) four

Qeu_pggiarr® (pie) euenruL_gHen Lfioremrd erggmen?
@A) o B) o
©) Qe D)  preng

35. (0.756 g %) is equivalent to

(A) 189% (B) 37.8%
f 56.7 % D) 75%

(0.756 x %) & SOLOTENG) 6157

(A) 189% B) 378%

(C) 56.7% D) 75%

CEG/18 14 B



36.  In how many years will a sum of money double itself at 18.75% per annum simple interest?

(A) 4 years 5 months

% 5 years 4 months

(C) 6 years 2 months

(D) 6 years 5 months

umLsSnE 18.75% erarp eraflw el elflgsdle, Qsranswnerg essmen eumHLisefie
@rliglium@n? ‘

(A) 4 eumLriser 5 wrgmiseT

(B) 5 eu@mLruser 4 wrgrseT

(€C) 6 eumLruser 2 rgmseT

(D) 6 au@Lriusar 5 wrgmiser

37.  The compound interest on Rs. 30,000 at 7% per annum is Rs. 4,347. The period (in years) is

% 2 years

(B) 2% years

(C) 3years

(D) 4 years )

. 30,000 erénp QsranssE, yamaHE 7% sl @ ey ddssde adsman oyeamHseil@ sl ( ey
e 4,347 @0 ?

A) 2 gyawmpHaser

B) 2} ayem@ser

©) 3 yepsar

(D) 4 gyen@pser

38.  In an equilateral triangle whose side is 3v3 cm, the length of its altitude is

M 4.5 cm (B) 5.5cm

(C) 10.3cm (D) 9.6cm
é@ &0UES pECaTasHen Lss 2j6Te] 3V3 Qa8 arafld 2IS6 GSFIWTHS 6 D66 cTETLIF)
(A) 4.5Qs.8 - (B) 5.5Qa.8
(C) 10.3Q@s.8 (D) 9.6 @s.5
B 15 CEG/18
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39.  Among the four answers figures, which can be formed from the cut-pieces given below?

gV

S o

(©) D)

Epaar pren@ eflenL_dsme .ut_ri\usaﬂo'.) @bs Brang Qe Luul L geardsmer durmsdlenme erg)

sflwrs @) mé@Wn?
A) ' ' ®)
(©) (D)

CEG/18 16 B



40.

41.

42.

Solve :

C——bba Cab—-—ac ab——ac
(A)  beach
(B) babce
(C) abcbe
-w_ acbchb
& :
C——>bba———Cab——ac ab——ac
(A)  bcach
(B) babce
(C) abcbe
(D)  acbeb

A hemisphere and a cone have equal bases. If their heights are also equal, than the ratio of

their curved surfaces will be

A 1:2
(B)'5 w2l
© 1:42

d V2:1

R SemrsCararapd, smibLb @Gy yliLsssms QardnBararar. Sjeupdlen 2 wWFLD swb eafd

sleuplen eueneruirifer g eremen?

A  1:2

B 2:1

© 1:42

@) +2:1

If 15225 =1, then x is equal to
(A)

©)

152::5 = lerafled, x —eim AL erevmig
A)

©)

[Turn over









47.  Match the book with the corresponding Authors and choose the correct answer :

Book Author
(a) Exam warriors 1. Narendra Modi
(b) Ido WhatIdo 2.  Jeffrey Archer
(¢) Red Birds 3. Raghuram Rajan
(d) A Wasted hour 4. Mohammed Hanif

(a) (b) (c) (d)

1 3 4 2

B) 3 1 2 1

C) 4 2 1 3

D) 2 1 3 4

£Cy Qanésliu’_Barer Lssamsmer Sieeasmar @updlu Afui QuumLer QUI®mSSS :
USS&LD GT(SSTeTiT

(a) Exam warriors 1. pCrpdy Gumg.

(b) IdoWhatIdo 2. Qmufl < iQer

(¢) Red Birds 3.  p@ymb prgen

(d) A Wasted hour 4. pswg anefi

(a) (b) (© @

A 1 3 4 2
B 3 4 2 1
€ 4 2 1 3
D) 2 1 3 4

48.  Which chemical product is mixed in the polyolefins plastic bags?
(A) Polyvinyl chloride
(B) Polystyrene
\’ Benzophenone
(D) Polymethylchloride
ureflGuirQe.Gemev erem Getraviy & LS SwbE @)HHSGLD TEFTLIGID 6Tg?
(A)  urelleflenamed &Carmeny(H
B)  umellevi_Mebr
(C) QuenGemICenmenm
(D)  uredll@QugHa@Carmeanr®

CEG/18 20




49.

50.

51.

52.

Indian Coastal Guard conducted the regional level marine oil pollution response exercise
during the year 2017 named as '

W Clean-sea-2017 (B) Blue-sea-2017
(C) Clean-ocean-2017 (D) Clean-Blue- Sea-2017
2017-& @pdlw sL_Cany sreud L GrmhHu etellerer &L erdamauie eram@amris rsUHSme
50&6 saLNgH55 LuipHuder Quwir
(A)  ssswrean s 2017 ‘ (B) fesdae 2017
(C) asswrean susHyn 2017 (D) &sgomar Hes s 2017

Who is the Chief Minister of Tripura in 2018?

(A) Jishnu Debbarama MBiplab Kumar Dev
- (C) Ratalalnath (D) Sudip Roy Barman

2018 b pewr(® Hflygm wrbleosHer wpgaweui wimi?

A) gdevgy Csliugmor » (B) @uGeu gom Caeu

© - Uggéoram@prrg (D)  sflugmi umoesr

In which year “Project Tiger ” was launched?

(A) April 1971 (B) April 1972
W April 1973 (D) April 1974

‘G e’ eremuigy) eriGuimgy Hlmpieulii L g?

(A) 1971 guge (B) 1972 guge

(C) 1973 guge (D) 1974 guge

Government declared that those who earned Rs. 10 lakhs per year will be ineligible for LPG
subsidy from?

(A) Jan. 2015 &1 Jan. 2016

(C) Jan. 2017 (D) Jan. 2018

at® eumorend g5 10 Qe sb 2 arateuisEnd@ ere.19.g wreflwb Qup snluCur@aS]@;_’r,gl 565
@dene eran i7a 2iHleilsss?

(A) 2015 geweurfl (B) 2016 gaweuf

(C) 2017 geweufl (D) 2018 gaeufl
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53.

54.

55.

56.

Who is the President of the Congress during Surat Split between the Moderates and the
Extremists? :
& Rash Bihari Gosh (B) Pheroze Shah

(C) M.M. Malviya (D) Gopal Krishna Gokhale

Bgeundlaer wpmib Sellraurda@sadlen Cuwrer ‘Grs Garey’ gpulL Cung srdyellen smoaurms
@ (mHgeui wmir? '
A)  gragsf Cames (B) QuCyrey agm

(C) wenCGwrser wroefwm (D) Csrure &megeanr CarsGa

The Headquarters of World Trade Organisation is in

% Geneva (B) Montreal

(C) Seattle (D) Washington DC

2 & cuanfls e widear SEmaEDWIGLD 6TThE SIEMLOHSIETATE?

(A) Qgafteur (B) - Qumrearr_Mwmré

©€) SAwmige D)  eurdli_er QarebiQuwim wreul LD

Indian State Financial Corporations have given assistance mainly to develop

(A) Small-Scale Industries

(B) Medium-Scale Industries
w Medium and Small Scale Industries

(D)  Irrigation projects

@Qpdw wrhle Fd Aneamsdr sfuwrs aamg 29elmaH aiw 2 s damen?

A) Apw yerellerer Qgmfcaser

B) pO&sT seneflewrar Agmldser

©) pEssT LHHID HPL Syerellorar Agmdasdr

D)  Brunger HLmiser

In which year Indian Air Force celebrate the 834 Anniversary?

(4) 2018 (B) 2017
(C) 2016 7 2015
@ndw eflwrears uemL geng 83aug) yea[H eflprene 6Thg pem(H Camei_Tiquwig)?
(A) 2018 ' (B) 2017
(©) 2016 (D) 2015
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57.

58.

59.

60.

The term chromosome was introduced in

1888 (B) 1887
(C) 1889 (D) 1988
&CrmGlonGemb erenp eurigamsaw SiPlpsiuBo e G
(4) 1888 (B) 1887
(C) 1889 (D) 1988

The most important reason for the decrease of biodiversity is

(A) Habitat pollution (B) Introduction of exotic species
(C)  Over-exploitation \M Habitat destruction

2 W@flen’s ureue GapeughHaTer s WEEIW STreRTLD

A)  aumf wreaur® ) B) w2 Wiler Plpsid

(C) fs syam_o D) amf ey

The Balwant Roy Mehta Committee was appointed to examine

(A) Democratic — Decentralization

(B) Panchayat Raj Institutions

(C) Administrative arrangements for rural developments
M Community development programme

arenen STyETSHHETE Ldabs Tml CLSET G SIMDESUILILL§)?

(A) wasam_Slulorer Hasmy LU

B) ugrsmuSF TR FlmieueThisET

(©) Hraurssdler aped Smo ueTT&SSerT

D) swsmu Gubur’ () S mser

‘Rule of Law’ is embodied in which Article of the Indian Constitution?

A 12 B) 13
14 (D) 15
@pHu sirflueaoiiben apg eIl ‘sl 8 2 @phgiaTansi?
A 12 B) 13
© 14 (D) 15
23
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61.  Who was the Governor—General when the revolt of 1857 broke out?
(A) Lord Dalhousie
@ Lord Canning
(C) Lord Lawrence
(D) Lord Elgin
1857 b e ® L8 Geuy $sCLITE smaamin SLEsBITS @Hbseui wi?
A)  Leaneydl Gy
B) sraflmyy

(C)  ergemev Gy
D)  erdgler Gy

62.  Which of the statement is correct with reference to The Estimates Committee?
L Consists of 30 members '
II. A Minister is eligible for election
ITII.  The term of the Committee is 2 years
IV.  The members are from only Lok Sabha

(A) Ionly
W I and IV only

(C) II, ITI and IV only
(D) I, IT and III only

wHLELHS Gelan aursdutismer saualéseyb : G GHLAL Berer eunrsdlunisalier erg)/erenau
sflwreneney :

L 302 puenisemer Qamarg

I wsdw wpdfl o griGemnns CaibAsHEsILLMD

L wAUSEGs Gueldan ugel sraib 2 aumL b uEb

IV. o plnQenit sienaraumid £ senLiuded Bmpgisren Coib0sHESILH6uT
A I wi@Eon .

B) Twpmbd IV vl @G

(©) I, III whgib IV wl_@Gid

(D) L II whgwd III wi_@id
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63.

64.

65.

66.

The judicial review was originally from
\l USA (B) Great Britain
(C) Australia (D) dJapan
BHU yemmiey eTps HrgSlBHE AuUpLILLLg?
A) =QuisasT B) @rdferbg
©C) YevdCreSlwm (D) guumen
Telangana came into existence as the 29t state of India in the year
@) 2013 P 2014
((?) 2015 (D) 2016
Qgerisrem QbHureler 296ug) wrlewrs 2 (Heurer 4er[H
(A) 2013 (B) 2014
(C) 2015 (D) 2016
In India, bank notes of value ¥ 500 and ¥ 1,000 were withdrawn from on the midnight of
(A)  5th November 2016 d 8th November 2016
(C) 10* November 2016 (D) 15 November 2016
@pHureded 500 whmd 1,000 mumis Crm_@ésemer peraflyede mbul QuHp Hrer
(A) mpeubur5, 2016 (B) meubuir 8, 2016
(C) peubur 10,2016 (D) peubui 15,2016
Who was the first chauperson of UIDAI?
M Nandan Nilekani (B) Ram Sewak Sharma
(C) C.A.Irani : (D) Sumitra Kulkarni
UIDAIer apged genaveurr wimi?
A) piger HCosTefl B) gmb Cseus &mom
(C©) C.A. @rafl D) sBsyT Gosie
25 CEG/18
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67.  Match the following :

Finance Commission Chairman

(a) First FC 1. KC. Pant

(b) Fourth FC 2. K.C. Neogy

(¢) Tenth FC 3. C. Rangarajan

@ Twelfth FC 4. P.V.Rajmannar
(a) (b) () (d)

2 4 1 3

B 3 2 4

) 3 2 4 1

D) 4 1 3 2

QurhsEs :
HHé & Seneeult

(@) @so HPHs G 1. K.C. ups

(b) prensreug s G 2. K.C. AGurad

(© ussreug Hds @up 3. C. Qymsgmgge

>

(d) uenafl@rearr_reug HHé G P.V. grggwenermi

(a) (b) (© d

@ 2 4 1 3
B) 1 3 2 4
© 3 2 4 1
(D) 4 1 3 2
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68.  According to 2011 census, the density of population in India is

\K 382 persons per sq km

(B) 324 persons per sq km

(C) 267 persons per sq km

(D) 117 persons per sq km

2011 syb e saa@a@dfeay @pduredle waser AgTms TG
A)  @msgy HCar BLL (héE 382 pLiiser

B) omsgr HCar BlL(hé@E 324 puiseT

C) omsagiyr HCar BLL(héE 267 puiger

D) emsgy ACwr BLLhéeE 117 puriser

69. 14 major banks were nationalised in India in the year

(A) 1949
(B) 1959
M 1969
(D) 1968
@rHwureiled 14 apgenenio euriflsat Bl (HLenWrEsILLL 66
A) 1949
(B) 1959
(C) 1969
(D) 1968

70.  Open market operations of RBI refers to
(A) Buying of eligible securities
(B)  Selling of eligible securities
«##” Buying and selling of eligible securities
(D) The control of money circulation
@pHw Meives aubidlufen Geuafls sHs HLcugEMEEET eTanLIg Tenss GOHISHADS?
A) BEIHWGLW LBIGE®ET CUTEIEGSW '
B) sEHmLW uRGS®aT SHDD
(©) 5@@:04@1_& U @&emaT 6l HmEILd eumkIGSeLd
D) uwewrysssms SLHULBSSISD
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71.  The first split in Congress took place in the year
(A) 1904 (B) 1905
©) 1969 v 1907
aps @[ srhdyen s fuded g Garey gHuLL g ?
(A) 1904 (B) 1905
(C) 1969 (D) 1907

72.  Who was the political Guru of Subramania Bharathi?

(A)  Bharathi Dasan qef Sr. Niveditha

(C) -Sarojini Naidu | (D) V.O. Chidambaram
subnwerflw urgHuller Sirdlwd @m wri?

(A)  umpdlgrsen (B) Sr. AGaudlgn

(C) &Crrgdefl pry® (D) V.0. flgwumb

73.  Which Council Act introduced the separate electorate for the Muslims?
(A) Indian Council’s Act 1861
(B) Indian Council’s Act 1892
W Indian Council’s Act 1909
(D) Indian Council’s Act 1919

g se|enfle L 1b @evemfluisenés safl aurssran Agr@dulamen siflwsasliudssug?
A) @bu seyendld s Lib 1861
B) @pdw sayendle s 1b 1892
© @pHu seiardéd stib 1909
D) @pdu seyendled s L1b 1919

74. Who defeated Nana Saheb?

W General Havelock d (B) General Nicholson
(C) Campbell (D) Neil
prem srGaL mﬁqrrdz CampagssliuLni?
(A) Qgeme Canaiens (B) Qgenye Hlésaaen
(C) Cswu@ue (D) fe

\
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75.

76.

Match the following correctly :

(a) Thiamine Tis Scurvy
.(b) Ascorbic acid 2 Rickets
(¢) Calciferol 3. Beriberi
(d) Tocopherols 4. Sterility
(a) (b) (© (d)
@) 3 4 2 1
B 2 1 4 3
W 3 1 2 4
D) 4 3 2 1
Spsaeam_eupenns sflwns’ QuUITmHSEs.
(a) swmblen 1. evsred
(b) <evsrmssflon 2. Assle
() sreflQupre 3. Quf@uf
(d) GCLrCGasr@Quyreen 4. vl ([HSs6mLD
(a) (b) (c) (d)
A 3 4 2 1
B) 2 1 4 3
©) 3 g 2 4
® 4 3 2 1

Plants and animals living in a area constitutes

)
V.2
(©)
(D)

Plantation
Community
Population
Ecosystem

SITEUITIBIS(ETHLD, eﬁ]wrijé]arrém@m awflsEb QL5 AareHurang)

A)
B)
©
D)

Csm_Liiugd
FApsLd

Slpoi

G Az

29
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77.  Vanamahotsava or festival of forest was created by

(A) Raja Ram Mohan Roy
(B) Dayananda Saraswathi
(C) Annie Besant

w Tagore

auannGarssad (1) srhaailer Hmeilpr wimyme o (Heurdsiul L g?
(A)  grgm gmb Corsen g

B) swranps syevaud

©€C) emaf@Quaen

D)  sremi

v

78.  Which Bhamini Sultan declared ‘Jihad’ against Vijayanagar?

w Yusuf Adil khan (B) Humayun
(©) Muhammad Shah (D) Nizam Shah
e umblell sagren ellpubsmaE adyms yaflgl Cumi Qgr@ssmen?
(A) w3 sren (B) apewmyer

©) @pswg agr (D) Hemd agm

79.  Through whom Krishnandeva Raya imported Arabian Horses?

(A)  Dutch (B) Danish

(C) Irish i M Portuguese

Wit epeowons & megatCoeurmui G GEerseer eummifleri

(A) Lassmpiser (B) Craflay

© gilay . (D) CuriggmEAwiser

80.  Who sponsored Swami Vivekananda to visit Chicago?

(A) Lord Dufferin (B) Lord. Minto
M Sir. Arthur Havlock (D) Sir. Elihu yale

saumbl ellCeusranpst HarCar Qeweusn@ 2-geilweum wri?

(A  cufler Gpy (B) WeanGLmGyy

(C) & g iar Capeuens (D) & ererad ered
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81.

82.

83.

84.

Which state first implemented the Panchayat Raj System?

(A) Tamilnadu (B) Bihar
M Rajasthan (D) Gujarat
LIEHEMUS TTRWSMS WSele perLperpriLiBsSu bl erg)?
(G VI T () (B) Sapmi
(C)  grmevgmen D) Gy

The ages of Vivek and Sumit are 2:3. After 12 years, their ages will be in the ratio 11:15. The
age of Sumit is

" (A) 32years (B) 42 years
w 48 years (D) 56 years
eilGeus wpmb s18ls flu @meuflar cuwgisaflar eldsn 2:3. 12 yardsErsd PG eutsaflen
auwg lflgd 11:15 erafled sllgSler auwig
A) 32 aupLrauser B) 42 aumpLrusmer
(©) 48 augpLmusar (D) 56 eumLmser

A certain sum of money amounts to Rs. 10,080 in 5 years at 8%. Find the principal

™ Rs. 7,200 (B) Rs. 7,000
(C) Rs. 6,200 (D) Rs. 7,300
@ GO L Qgrenswimeng) 8% éJLtq, SpsH0 5 @pamRaaie @m. 10,080 2 Hng). SiFmas STETS.
A) e 7,200 (B) ¢m. 7,000
(€) . 6,200 (D) em. 7,300

X and Y and Z can independently complete a piece of work in 6 hours, 4 hours and 12 hours
respectively. If they work together, how much time will they take to complete that piece of

work?
(A) 3 hours (B) 5 hours
(C) 6 hours \M‘ 2 hours

XY, Z safssafiCu gm Coumaawu puss 6 waflCorb, 4 waliCrrb, 12 wafiCprb, a®ssE
Qarerflenper. epaumid Capba sicuGaamaa (pig&s ereuciera| CHID ar(Hidgid QaTereu?

A 3 ®B) 5

© 6 D) 2
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85. HCF of ¢* - d?, ¢® —cd

@A) c+d

o c-d
© -d
D) cle-d)

c? -d?, ¢® -ed —en 8.Qum.au

A c+d
B) c-d
© c*-d?
D) clc-ad)

86.  The product of two relatively prime numbers is 35. Their LCM is
(B) 8

7. |
W 35 D) 15

pan&CsTay LST aansamen @ran( aansafar dumssd Gzrams 35 aafld eupdar B&m

Qurg) Lk
@ 1 8. B) 8
© 35 | ® 15
87. If-l—:l:l=2:3:5,thenx:y:zis
e
@A) 2:3:5 : (B) 6:10:15
(C©) b5:8:2 \M15:10:6
l:l:l=2:3:5<;rszsﬂ&;'ux:y::acrsim_lgj
A
(A) 2:3:5 (B) 6:10:15
C) 5:3:2 (D) 15:10:6
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88.

89.

90.

Find the volume and surface area of cuboid 16 m long, 14 m broad and 7m high

M 1568 m?, 868 cm?
1560 m?, 864 cm?

(©) 1460 m3, 860 cm?

(D) 1320 m? 850 cm?

16 m Serapid, 14 m s, 7 M 2 wwb GsraTL saEHTSS e SjeTe) WLHMID UL

s (H1lg.

(A) 1568 m? 868 cm?

(B) 1560 m? 864 ¢cm?

(C) 1460 m3, 860 cm?

(D) 1320 m3, 850 cm?

A is twice as good a workman as B and together they finish a piece of work in 14 days. In

how many days can A alone finish the work?

@ 1 21

© 28 | . D) 42

A eéruauir B-aw smgaib @i Apuurs Caumaew Geleurt. @nawmb Carbg ibs

Gaumaenws 14 prisafléd apgliuniser. aaGa A LG 2HS Caumamu (pyés TESman HrLsar

2GID?
Ky, 1 B) 21
€ 28 (D) 42

If @ is defined as x ® y = x* + 2y, find the value of Pif 4® (3@ p) =50
" ®) 7

© 8 D) 125

@ ey Qewdlwmang x® y =x*+2y eran amruampssiul®, 4®(B® p)=50 e
Qar@&ssiul_Lre, P—ar iy srans A

A 4 B 7

© 8 (D) 125
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91. Find the missing number in the following :

3 |15
11
?
dal T
“« ®B) 12
© 13 (D) 26
ECys Qar@asu Leupder eNHLL_L cTaRTenanTs STeis -
3 |15
2 11
f,
) Tl 7
A b5 B) 12
© 13 D) 26

92.  The largest 4-digit number exactly divisible by 88 is

“ 9944 (B) 9768

(C©) 9988 (D) 8888
88— au@UL& g Wlsl Quilu Brene Gess e org)?
(A) 9944 (B) 9768
© 9988 (D) 8888
93.  Ais B's brother, C is B's Father, D is C's Father. Then A is of D.
(A) Grand mother (B) Grand father

(C) Son M Grand son

A aemueurr B én sGangran. C eramueuir B Wén spens. D aramueuir C Wén ShHeng erenpmed A erevmueuir
DuQes

(A)  umiyg (B) srggn

(C)  waen M Guyenr
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9

—_— — e

9. . 3 11 ,[25 11):_33 .

—_—X— | ="
2 5 \44 5) 15
1 2
7= =
S ® 2
126 101
C —— D) 5=
©° 12 © 5125
311 (25 11) 33 _,
—X— | —X— |+ —="7
2°5 (44 5) 15
1 , 2
A 1= -
(A) s ® 3
126 101
C — [ otakad
© 125 @) 572

95. Match the following :
Currents Ocean
(a) Labrador current South Atlantic ocean
(b) Kuroshio current Indian ocean

(¢) Leeuwin current Pacific ocean

P W

(d) Falkland current North Atlantic ocean
(a) (b) (© (d)
Ay 1 3 4 2
(B) 2 4 3 1
4 3 2 1
D) 4 2 1 3
QummSSHS :
BCymL_ruger Cugmgl
(a) emugLmr BCrm_LLD X Qgen 2i_eomeirig & Guymy
(b) ECmafiCur fCrm_Ld 2.  @bdw Cugms
() eSwyefen BCym LD 3. udl9s Cugmd
(d) Surseorpg BCrmiLd 4. e erargd Curmf

(a) (b) © (d)

A 1 3 4 2
B) 2 4 3 1
© 4 3 2 1
D) 4 2 1 3
B 35 . CEG/18
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96. Two spheres of radii 7; and r, cm are joined by a thin wire and a total charge ¢ is given to

them. If g, and g, be their individual charges, then

A g =g
w S olh
qx T

© 4.5
9 n

n T
@) ¢ ="andg,=-%
q q

wpopCGu 1, wHgd 7, sl wrhsdar Qarar_ @uean® Caremusdar @@m GQwodlu SBNWTD
Qaarssiul () Seupdlpe@ Qurss Weargm b ¢ sTULGSDSg, g, g,eamuar wanCu Seuphier

saflgs Wlemanm L_misermuleor
A) g, =3q,
|y R
@ n
© 4. -
9 n

T r
(D) q, =+ wpgyd g, ==
1 q DI g, q

97.  The nuclei ;C" and ,N'* can be described as

M isotones

(B) isobars

(C) 1isotopes of carbon

(D) isotopes of nitrogen

¢C? wpmn N aflu ignssmsad Gy efeufésiiL@dpg
Q) gCenGLrenser

B) @Csruniser

(©) smiuefear gGerGLrliyser

(D)  eplygeflar gGsrCLmiyser
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